
Answer on Question #48506-Math-Statistics and Probability 

The box contains 14 green and 19 black pencils. Pencils are picked up randomly one by one without 
replacement. What is the probability that 2 black and 3 green pencils are picked up in first five pickups? 

Solution 

𝑷𝑷(𝟐𝟐 𝒃𝒃𝒃𝒃𝒃𝒃𝒃𝒃𝒃𝒃 𝒂𝒂𝒂𝒂𝒂𝒂 𝟑𝟑 𝒈𝒈𝒈𝒈𝒈𝒈𝒈𝒈𝒈𝒈 𝒑𝒑𝒑𝒑𝒑𝒑𝒑𝒑𝒑𝒑𝒑𝒑𝒑𝒑) =
= 𝑷𝑷(𝑩𝑩𝑩𝑩𝑩𝑩𝑩𝑩𝑩𝑩) + 𝑷𝑷(𝑩𝑩𝑩𝑩𝑩𝑩𝑩𝑩𝑩𝑩) + 𝑷𝑷(𝑩𝑩𝑩𝑩𝑩𝑩𝑩𝑩𝑩𝑩) + 𝑷𝑷(𝑩𝑩𝑩𝑩𝑩𝑩𝑩𝑩𝑩𝑩) + 𝑷𝑷(𝑮𝑮𝑮𝑮𝑮𝑮𝑮𝑮𝑮𝑮) + 

+𝑷𝑷(𝑮𝑮𝑮𝑮𝑮𝑮𝑮𝑮𝑮𝑮) + +𝑷𝑷(𝑮𝑮𝑮𝑮𝑮𝑮𝑮𝑮𝑮𝑮) + 𝑷𝑷(𝑮𝑮𝑮𝑮𝑮𝑮𝑮𝑮𝑮𝑮) + 𝑷𝑷(𝑮𝑮𝑮𝑮𝑮𝑮𝑮𝑮𝑮𝑮) + 𝑷𝑷(𝑮𝑮𝑮𝑮𝑮𝑮𝑮𝑮𝑮𝑮) = 
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Answer: 𝟎𝟎.𝟐𝟐𝟔𝟔𝟔𝟔. 


